EARAROBEEIERT — 2 N— IBISH —F

20135108170 (K) 12BA$#4H

L]V 7 %—fx C1HAXN

‘ [Riz] & ‘ [REBE] — | & (&) 12000 FHE

[A~&£] 17 :1,300,000  ~ 23 :390,000  37&:234,000 "

4 7% 156,000 F 5 3& : 130,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
oo — Y :13. - . — AR (KF)
m JTFINZ T 4 5 Eﬁ.lo 1(1_3)7 10-10 37.4 8 ;1_740) AT
LixALIZYr7—2 B:YaH—RKy b e rie]
o e o T & 7 :13. - . = NEFEFTE ()
2 g| IAFT7LF/ i 5.0 (17,19377) &8 5.9 s 26) STEOBA—ER
L:ZNTT 4 ZF— BANLTRILA BNBEHNS
B . 44 | WHEEX 1:13.9 1-11 37.2| — 6 535 | {BAFE (k)
3|5|5 Yyl)—="7r 56.0 ) (+13) | EABT
RTIRATFIEIN B:HI€IATILFLT BHR=t All%E
R = 4t 3 | R 1:14.1 5-5 38.6| — 1 448 | 1BAKE (K3H)
4178 Ly K¥a25 X 54.0 (1 1/4) (-3) FlsRELE
Z:7A7% B:I73%25X AHHE BE
SERyy Ho6 | EHWEER 1:14.1 9-9 3.1 — 7 494 | UBE=RE (KFH)
5011 | TF7V%>7 56.0 () (-2) Kﬂﬁﬂ§£¥
L:HvsO0—-LIb B: by avERIF HEHS
S, S o 3 | BEE 1:14.2 4-4 38.9| — 10 | 409 |#LE3hz (K¥#)
EE 2| ¥ETITS 54.0 (1/2) 7) | BEBEX
LT RYA YT w8 BAY—Ta1T A e
. B4 | WisEt 1:14.3 2-2 39.2| — 4 476 | FERICH (/\iA)
7179|714 XRT AL 54.0 (1/2) (-4) A
R:772UIL7 B:TUTZ pIEsEae]
. - 4 3 | T 1:14.4 7-7 38.8| — 5 481 | FREAE (KFH)
sEls3|7~71= 54.0 (1/2) (3 | BB
R:T7HIHFLIY BATIIATIR R R
. 4 3 | ‘BN 1:15.4 5-6 39.9| — 11 459 | USEERS (KH)
9|8|11| PF/AH—L v b 0 ® Cy |PEEET
LY LIAN=F B:TRFYT7X b B &*E
BB :15. — . - SEARREZ (/)\HK)
10 2| PITEL— b it 3 i} 1(125)8 3-3 40.6 2 (4_33 et
L:772YI7 B:7AO-T1—)K #H BB
: —: s o4 | BIRER 1:16.0 1-1 “nol — 9 441 |EARZE (KH)
11 g|d=Froz 56.0 (1 1/4) (ca) | TREHR
L:FLNTyTFtE BAXIEYY f—ZRNT7—L
® I —F—@EBIERL
13—7+—
23—F—
Gal=5r= 4,9,7,2,(8,11),3,6,1,10,5
40—+ — 4,9,7,2,8,11,3,6,1,10,5
[ N3
B OB 10 4,180M 714K 6-10 2,280 % E 6-8 2,980 RPEL:] 5-6-10 61,330/
8 B 10 740M 5-10 7,450 B 8-6 12,250 K31 10-6-5 545,190
6 200M 5-6 2,210 B E 6-10 7,980
5 1,250 B H 10-6 32,030

ABICOVWTRDTEEERROODE. TR LIV,




